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COST OF CAPITAL



COST OF CAPITAL: MEANING

Cost of 
Capital

In Operational 

terms
In Economic

terms



IN OPERATIONAL TERMS

• COST OF CAPITAL IS DEFINED AS THE DISCOUNT RATE THAT

WOULD BE USED IN DETERMINING THE PRESENT VALUE OF

THE ESTIMATED FUTURE COST PROCEEDS AND EVENTUALLY

DECIDING WHETHER THE PROJECT IS WORTH

UNDERTAKING OR NOT.



IN ECONOMIC TERMS

• COST OF CAPITAL REPRESENTS THE OPPORTUNITY COST

OF FUNDS TO BE INVESTED IN A PROJECT WHERE THE

OPPORTUNITY COST IS QUANTIFIED BY THE MAXIMUM

EXPECTED RATE OF RETURN FROM THE NEXT BEST

ALTERNATIVE FORGONE.



RELEVANCE OF COST OF CAPITAL



CLASSIFICATION OF COST OF CAPITAL

Cost of Capital

Specific and Weighted 
Cost of Capital

Explicit and Implicit 
Costs of Capital



COST OF DEBT CAPITAL

Perpetual Debt Redeemable Debt
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Cost of Debt



COST OF PREFERENCE SHARE CAPITAL

Redeemable Preference 
Share

Irredeemable Preference 
Share
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COST OF EQUITY CAPITAL

Dividend 
Capitalisation 

Approach

Earning Price 
Approach

Capital Asset 

Pricing Model
(CAPM)



DIVIDEND CAPITALIZATION APPROACH

No Growth

•𝐾𝑒 =
𝐷

𝑃

Constant Growth

•𝐾𝑒 = 𝑔 +
𝐷(1+𝑔)

𝑃



EARNING PRICE RATIO APPROACH

No Growth

•𝐾𝑒 =
𝐸

𝑃

Constant Growth

•𝐾𝑒 = 𝑔 +
𝐸(1+𝑔)

𝑃



CAPITAL ASSET PRICING MODEL

CAPM •𝐾𝑒 = 𝑅𝑓 + 𝛽(𝐾𝑀 − 𝑅𝑓)



COST OF RETAINED EARNINGS

𝐾𝑟 = 𝐾𝑒 1 − 𝑡 (1 − 𝑏)



OVERALL COST OF CAPITAL

𝐾𝑜 = 𝐾𝑒𝑤1 + 𝐾𝑟𝑤2 + 𝐾𝑝𝑤3 + 𝐾𝑑𝑤4




